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Class: X Department: Social Science Sub: Economics
Chapter-2 Topic: Sectors of the Indian Economy Year: 2022-2023
Worksheet:2

1 When we produce a good by exploiting natural resources, it is called

a. Primary sector
b. Service sector
c. Public sector

d. Tertiary sector

2 The task of measuring GDP is undertaken by the

State government

Provincial government
Central government

d. All of the options are correct
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3 Which of the following types of activities are covered in the secondary sector?

a. ltincludes agriculture, forestry, and dairy.

b. Goods are produced by exploiting natural resources.

c. Natural products are changed through manufacturing
d. It generates services rather than goods.

4 The money value of all final goods and services produced within a country during a particular
year is called

a. Production of secondary sector
b. Net domestic product
c. National product
d. Gross domestic product
5 Which one of the following sectors has emerged as the largest producing sector in India?
a. Secondary sector
b. Tertiary sector
c. Primary sector
d. Science and Technology sector
6 The sectors are classified into public and private sector on the basis of
a. Employment conditions
b. The nature of economic activity
c. Ownership of enterprises
d. Number of workers employed in the enterprise
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7 The sector in which the ownership of assets and delivery of services is in the hands of
individuals is called

Private sector
Public sector
Secondary sector
d. Tertiary sector
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8 Which of the following examples does not fall under unorganized sector?

a. A farmer irrigating his field.

b. A daily wage labourer working for a contractor.

c. A doctor in a hospital treating a patient.

d. A handloom weaver working on a loom in her house.

9 MGNREGA has guaranteed .......... days of wage employment in a year in many districts of India.

a. 200 days
b. 100 days
c. 30 days
d. 60 days

10 Underemployment occurs —

when people are not willing to work.

when people are working slowly.

when people are working less than what they are capable of doing.
d. when people are not paid for their jobs.
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11 Which of the following economic activities does not come under the primary sector?

a. Fishing
b. Farming
c. Mining
d. Banking

12 Which of the following is not applicable for a worker, who works in the organized sector?

She gets a regular salary at the end of the month

She is not paid for leave

She gets medical allowance

She got an appointment letter stating the terms and conditions of work when she joins
work.
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13 The motive of public sector enterprises is

a. Profit making

b. Entertainment

c. Social welfare and security
d. None of the above

ASSERTION AND REASONING: -
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Read the
statements and choose the correct option:

14 ‘ Assertion (A): The value of intermediate goods already includes the value of all the final goods
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that are used in making the primary goods.
Reason(R): With the help of various government departments of all the Indian states and union
territories, the central ministry collects information relating to total volume of goods and services
and their prices and then estimates the GDP.
Options:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true and R is not the correct explanation of A.

(c) Aistrue butRis false.

(d) Ais false but R is true.

15

ASSERTION(A): The development of agriculture and industry leads to the development of the
service sector.

REASON(RY): As the primary and secondary sectors develop, the demand for transport, storage
structures, banks, insurance etc. increases.

Options:
(a) Both A and R are true and R is the correct explanation of A.
(b) Both A and R are true and R is not the correct explanation of A.
(c) Aistrue but Ris false.
(d) Ais false but R is true.
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